
Disclaimer: This installation guide is intended to clarify the install of your new Soul 
Performance Products headers. Please take proper precautions and safety 
measures when working on your vehicle and perform this work at your own risk.

Pictured Left: Start by raising your car and 
removing the rear wheels. Then remove 
the tire shield from the fender wells(two 
10mm bolts and one T-25 Torx bolts)on 
both sides(it is not absolutely necessary to 
remove the wheels and tire covers, it will 
however make the install much easier

o (1) Driver Side Header
o (1) Passenger Side Header
o (5) M8 x 1.25 x 25mm
o (5) M8 x 1.25 x 20mm
o (6) M8 Lock Nuts
o (10) Flat Washers

Leak Tested    _____________________________

Packing Sign Off  __________________________ 

Shipped on   ___/___/______

I nsta l l at io n  G u i d e   
P o r s c h e  9 8 7 . 2  B o x s t e r  /  C a y m a n 
L o n g  T u b e  S t r e e t  H e a d e r s

https://www.carid.com/soul-performance/


2

Pictured Left: Remove the 
underbody access panel. There 
are three 10mm bolts and four 
T-25 Torx bolts

Pictured Left: Remove the three 
13mm nuts at the header to 
muffler flange on both sides 



3

Pictured Left and Above: Locate the Oxygen sensor 
wiring mounting locations and disconnect/remove 
the sensor clips and tie downs.  

***There may be additional push pin mounts on top 
of the engine in the rear and clip mounts on top of 
the engine in the front that are not photogaphed 

here.  

**** Please note that the Oxygen sensors are 
proprietary to their locations. They are color coated 
for ease of identification but you may need 
additional marking techniques to ensure they are 
installed back into the correct position.  



4 

Pictured Left: Remove the 13mm bolts from the 
header flanges. There are six per side, you will be 
re-using these.  

Pictured Above: After removing the 
factory headers, with them on the 
ground use a 22mm wrench to 
remove the oxygen sensors. This 
may take some time/patience /heat



5

Pictured Left: Coat the 
oxygen sensors with an 
anti- seize of your choice

Pictured Left: Install the 
oxygen sensors into their 
respective positions and 
torque to specification

Pictured Left: If your 
factory gaskets are in 
good shape it is okay to 
coat them in a copper 

Note the position of the tab, 
be sure that it is vertical or 
the gasket will not seat 
properly.

IMPORTANT:



6 

Pictured Left: Guide your 
Soul Performance Headers 
back into place following 
the reverse sequence of 
removal

Pictured Left: Install the 
factory 13mm bolts into 
position and torque to 
factory specification. 

***Tip: Start from the 
inner most bolts and 
tighten outwards following 
an alternating path side to 
side

Pictured Left: Re-route 
your oxygen sensor wiring 
and tie downs in the 
reverse sequence of 
removal 



7 

Pictured Left: Install the muffler flange 
gaskets and torque to factory 
specifications. It is okay to re-use your 
factory gaskets if they are in good 
condition and you have applied a coat 
of copper gasket sealant   

*** Tighten each bolt a small amount at 
a time alternating between sides. To get 
the best seal you want both bolts to 
reach full torque at the same time.  

Install the M8 X 1.25 X 20mm bolt in on 
the passenger side header in the top left 
hole that is closest to the engine. This 
bolt is used in this location due to the 
tight constraints. The other five M8 X 
1.25 X 25mm bolts can be used in the 
other five holes.

IMPORTANT



8 

NOTE: You may notice that after you have heated the exhaust up to operating temperature for the first time that you 
may need to check all mounting hardware and re-torque as needed.   

You have now successfully completed the installation of your new Soul Performance Headers! 

Pictured Above: Ensure that all hardware is 
tightened and any electrical wiring is 
properly secured and out of the way. Then 
install any panels you have removed 

Accept no compromises, choose only quality performance exhaust systems.

https://www.carid.com/exhaust-systems.html



